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CHMIS Quiz3  25Pts Spring 2013 Name: Ke"ﬁz’

Duc Monday February 25th at the beginning of class. Show all work to receive credit.

]. Name and give the formulas for six sirong acids

8]

Determine the oxidation number of each of the clements in Cs-Cr.()-?

Cgf’} Cr +6 O -

Identity the reducing agent in the following reaction
2KBr* F- - Br: ' 2KF P
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4. 'Thonum metal is prepared by reacting thorium oxide with calcium as depicted below.
ThO, - 2Ca — I'h- 2Ca0 C
What 1s the reducing agent  1n this process”? a

What is oxidized n the process? COV . —

5. How many grams of potassium chloride are needed to make 3.0 liters of a 2.0 M KCl
solution?

2.0 k| doml R | F72550 = yuyp.3 ¢
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6. What volume of concentrated nitric acid (15.0 My 1s required to make 100. mL of'a 3.0
M nitric acid solution?

M, vV, = M, V, |
UQOM)V = (3.om) (109 mL)
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7. The concentration of oxalate ion (C;().z ) in a samplc can be determined by titration
with a solution of pcrmanganatc 1on {MnQ, ') of known concentration. The net ionic
cquation for this reaction s

2MnO; + 5C,04 + 16H > 2Mn~" 8H:0 - 10CO;
A 30.00 mL sampic of an oxalate solution s found to react completely with 21,93 mL of
a 0.1725 M solution of MnO,~.  What is the oxalate ion concentration in the sample?

Ampo; *F 5C,00 T+ ICHY = amntt + FHo + [0CO,
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8. What volume (ml.) ot a 0.2450 M KOH(aq) solution 1s requircd to completely
neutralize 55.25 mL of'a 0.5440 M H:PO,(aq) solution?

IKOH@Ey + My R0, leg; —> 3H0W) Ky Poy &g)

2ot ol 55 o_.anh/
5 2L s oo s
O. o‘-.‘/s'a L (j. 5-‘7“/0,——- /(Or/

Ly JEM*[ 0.5“/‘/@5»10 ‘,may[ﬁ’wf'#l /ooom L — S(S,OML/TOH
e //,% | 324527 |

9. 34.62 mL ot 0.1510 M NaQOH was necded to ncutralize 50.0 mL of an H>SO; solution.
What is the concentration of the original sulfunic acid solution?

2 MaOlag) + 804 (55) —> QU084 + Mes Ser20

YD ey 50.0m L [
0. 1516 e 7mel Neof 1258 //’ Hos9

3470 /»A(jfo{“j o.1c16m8] || mel \0'0513:’“ [ (}
—

ox/o? w ¢
"

10. A 110. mL solution of 0.340 M HCl(aq) 1s mixed with a solution of 330. mL of 0.150 M e
HNOax(aq). The solution is then diluted 10 a final volume of 1.00 L. How many moles of
b1 are present in the final solution?
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